TH3402 A 248 (KER)

R RENFEHIS (A15) 2B B #H

L5 EHFGHRHME: 2784
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
130100 [ \CA 3 30,075
£E 555 0 555 15 324
me 10,800 600 10,200 10 864 540 1,080 432
& 6,480 948 5,532 12 864 648 972 270
130340 [;£ICA LA 3 10,170
£E 370 0 370 10 1,782
RiF 500 0 500 10 2,441 1,944
REAR 2,540 0 2,540 10 2,786 1,944
BRE 6,110 0 6,110 10 - - - 2,614 1,102
130400 [Z %5 g 1,970
= 400 0 400 10 1,890
Ik 1,450 0 1,450 10 - - - 5,400 2,484
130600 |[NWACA g 3,428
i LU 145 0 145 5 2,592 864
me 2,475 10 2,465 5 3. 888 4536 864
131100 | % 23,717
p3: 4,800 1,725 3,075 15 648 864 432
5 6,210 3,555 2,655 15 1,080 648 1,080 756
£EE 2,257 1,556 701 13 648 216 432
G 9,750 5,295 4,455 15 156 594 756 432
HEAR 700 0 700 10 864
131700 | ¥ Y g 45,380
50 23,430 2,980 20,450 10 810 432 756 378
£E 15,330 4,420 10,910 10 702 594 702 432
T 3,000 0 3,000 10 702 594
IR 3,620 3,320 300 1 72
131800 [IF5NAE 3 5,587
£E 829 540 289 0.2 89 22 81 35
me 2,602 2 2,600 0.08 16
G0 1,485 0 1,485 0.18 108 54
131910 [T 3 3,158
N 19 0 19 0.5 702 302
£EE 75 0 75| 05 302 270
i Ll 300 0 300 1 864 216
EF| 1,759 100 1,659 5 1, 458 2,700 810




TH3402 A 248 (KER)

R RENFEHIS (A15) 2B B #H

L5 EFGHmHE: 2784 L
(I HEREFST)
mn &n i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hiike) | &EAE) | HEFE) | ®EME) | &EME) [ FEFE) [ RiEFE)
iR 655 0 655 10 3,132 2,700
(S5 260 0 260 5 810
131950 |[A T 3 3,003
B 1,497 465 1,032 3 1, 620 1,296 1,620 972
BRE 396 0 396 3 1,566 1,458
hE 150 0 150 3 1,296 864
133400 [L AR g 24,658
Ik 6,900 1,800 5,100 10 1,404 972 1,404 702
EE 9,598 2,778 6,820 10 1,728 540 3,240 216
] 2,940 850 2,090 10 1,728 1,188 1,728 540
RiF 4,820 1,400 3,420 10 1,404 648 1,674 540
REAR 200 0 200 10 1,231 648
134100 |81 1 17,620
] 4,990 980 4010 5 1,728 1,415 2,052 1,134
iR 255 0 255 5 1,620 1,296
S0 1,430 1,030 400 5 1,836 1,296 1,620 1,512
=I5 8,925 4,475 4,450 5 1,944 1,350 2,074 1,350
134200 |F I g 1,390
—1—U—-5UK 1,390 0 1,390 10 - - - 1,620 1,404
134300 | hF B 5,013
me 1,154 54 1,100 2 1,188 864 1,188 594
S0 3,394 1,406 1,988 0.3 124 108 130 108
il 465 47 419 03 140 140 135
134400 [~ % 13,049
50 60 0 60 4 1,026
£E 1,478 0 1,478 1 324 216
Eig 2,784 72 2,712 4 1,296 1,080 1,296 756
REXR 8,193 339 7,854 q 1,512 972 1,404 540
134500 |[E—< > i 4213
(S5 1,172 38 1,134 0.15 97 119 86
=] 2,991 958 2,033 0.13 91 96 97 86
135100 [LNAUIT A g 140
=il 70 8 62 /4 3. 564 3,780 3,564
135200 |Bi = % 141
FIEAIT 141 16 125 2 Z.700 1, 620 2,700 1,080

2/3




TH3402 A 248 (KER)

R RENFEHIS (A15) 2B B #H

L5 HFEmHE: 2784 Lo
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
XH HY5E Axt Hfike) | SEME) FE(E) ZEM) =B FE(E) ZEM)

136100 [MAL & “ 26,155

Es 5,820 660 5,160 5 2, 268 1, 620 1,998 594

X5 4,650 0 4,650 5 1,728 1,080
136210 [A—D 1> g 15,930

dbiEE 15,930 850 15,080 10 2.916 1,836 2916 950
136300 (B3 ok 2,090

EiR 1,990 560 1,430 10 3. 564 1,944 3,780 1,620

hE 100 0 100 10 1,620
136600 |f-F 1= 3 1,240

dtiEE 250 0 250 10 2,052 972

iEdE 220 220 0 10 1,944 1,620

£E 770 770 0 10 2. 484 54
138100 [ LU V=1T “ 2,698

£E 150 25 125 5 3,240

me 1,890 65 1,825 0.2 216 216 108
138500 |[LOHLE g 2,233

Pt 2,227 287 1,940 0.2 18 65 76 68
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TH3402 A 248 (KER)

R RENFEHIS (A15) 2B B #H

B ENSEHa% 47.1
(I HEREFST)
mn mn i EIFEE = (ke) R b tExIER 5|
AH BY5E HExt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)
240700 | Z &R M A DA a3 11,243
B 5,067 0 5,067 10 2,376 756
BS 6,176 4,654 1512 10 4, 428 864 3,780 1,620
241300 |17 T4 ok 4,286
iR 4,286 0 4,286 10 - - - 2,484 1,512
241320 [/\¥A g 1,540
LB 1,540 1,540 0 10 3. 456 1. 728
241470 [EADA g 71
=I5 60 51 9 3 2.376 2,160 2,160
241481 | TR g 5,300
=il 470 0 470 5 3,240 1,944
IR 4830 810 4,020 10 1, 620 1,620
246000 [L\E g 13,983
£E 470 155 315 025 378 227 378 313
=l 1,003 400 603 03 648 410 540 410
& 188 172 16 0.27 486 324 324 216
k8B 2,100 797 1,303 0.24 378 281 410 281
G 3,735 1,010 2,725 025 389 346 432 216
e 5,741 2,110 3630 0.25 378 210 389 270
= 1% 746 268 478] 027 378 324 378 302
247100 [7—IL A AOY g 255
E4 i 187 43 145 8.5 13. 500 10, 800 15,120 4,320
=il 17 0 17| 85 11,880
REAR 51 0 51 8.5 10,260 8,100




PO T FR YL SR T (ANY) i H
SFI34E02 A 24H OKiEH)

A B 14.1 %
(mAs I X VE B B 5 Te)
4 . E7EH (kg o wY5E RIS
o 4 — — (i 3=X VA - — — y — =

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) PEHH EAE) | PEE) | 22
101 [RAR-» 592 111 481 Kg |EE 1,080 356 S 1,836 540
102 |FepHizu 2,037 2,037 Kg g 2,916 324
111 [BEIZED 514 514 Kg 1 o e IRf 1,080 306
113 [RAROL® 73 35 38 Kg |fE 1,836 270] fe i 1,728 864
114 |5 EH 121 121 Kg [ 2,376 1,404
115 |- 3 3 Kg Lo 1,728
117 [13n 286 286 Kg 355 2,160 1,296
121 [bixE 166 29 137 Kg [ES 2,160 756 | TS 1,620 621
134 [7== 262 169 93 Kg  [=k T3 1,620 864[ )ik 3,240 864
137 |5 162 130 32 Kg | 2,700 2,052] &1 3,240 2,538
138 |IR7pEZ 29 29 Kg GG 1,080 756
140 [DIT 20 20 Kg frJE 25,920 11,700
147 |[HEZ W 102 10 92 Kg |#hE 5,724 4,968 |h#E 7,020 3,500
158  |F#IAED 496 17 479 Kg [HEIRE 864 R 972 540
201 [WhL 826 826 Kg FIE 432 108
203 [T 68 68] Kg =t 513 432
205 |RHU 155 155 Kg Fhak L 324 259
206 |1 774 774 Kg Lo 978 108
208 |7k 80 80 Kg FRak L 1,188 482
209 [ D000 235 235 Kg L 972 907
210 [iFA VD 76 76 Kg |EF 3,780 2,970
212 |FHE5D 727 154 573 Kg [HEIRE 702 P33 1,512 648
251 [KAXLA 426 426 Kg gy 3,186 2,317
252 [WAEESA 165 70 95 Kg  |#%] 2,603 FE 7 783 281
254 |EDOIEESH 4,407 4,407 Kg )7 1,836 648
303 [HLAZEW 9 9 Kg KRy 734 675
305 |EARn-ok 52 10 42 Kg [I0A 2,808 2,376 1L A 3,132 2,592
319 [&h5 403 178 225 Kg [=k2 702 486 5UHR - B AR 1,620 540
332 [T HA PR 327 327  Kg AL 1,188 1,080
351 |&EER 5 5]  Kg [ 3,888
354 [ITE<H 42 5 37 Keg [T 1,944 T 1,512 783
355 [HED 105 105 Kg REA - FoJiE 1,512 500
356 |LUA 10 10 Kg BHEL 972
357 |RE 106 13 93 Kg [LA 1,296 L 2,160 1,350
358 | KHE 10 10 Kg ) 1,404
362 |7 239 4 235 Kg [Fil 864 o 2,808 432
101 | 2 2 Kg WA 2,592
402 |H7pE 10 10 Kg S 4,428 3,240




ST3E02 A 24H OKWHER)

F A TR NS T S (AE5) HE H

YR FNFERAER 0.7 %
(mAs I X VE B B 5 Te)

b Tk (k HV7E EpopirG]
:Df_ﬁv oy izl ;5; (kg _ P \ _ 5 _ ‘ j 5 _

A H H5E ERSNNE] PEHI e P | R AE(FD | Z2fE(m) PEHH EAE) | PEE) | 22
507 |2—/LUs 20 20 Kg AR 680 540
523 W2 Y 63 63 Kg FE 7 1,980 960
524 |z Y 116 116 Kg F ) 1,620 1,140
560 [mE7-Z 36 36 Kg 3D 1,720 1,050
566  [#ER2NT 352 352 Kg E[RES 3,400 1,350
576  |#SIT 95 95 Kg B RERE R3] 1,242 635




ST3E02 A 24H OKWHER)

F A TR NS T S (AE5) HE H

L HEIbnA ot = 1.5 %
(mAs I X VE B B 5 Te)

4 . E7EH (kg o wY5E RIS
a—F an — — S AL - — — y — —

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
701 |[BYOA 490 418 72 Kg [0 894 840 S 972 864
710 |50 IF 71 71 Kg Koy 2,160 675
721 |@FET o8 30 30 Kg a5 7,776 7,560
751 | E o 10 10 Kg R 900
755 |BAHL 33 33 Kg E[RES 792 623
756 |BHANET 14 14 Kg Flry 1,080 1,056
759 |58 E 6 6 Kg EI0] 2,160
761 |[BYUBDAEE 12 12 Kg |fE 1,188 1,008
767 [IE7=50 w0 66 66 Kg 355 1,980 1,908
768 |E - 5 5 Kg FE 7 1,800
801 |HEACXLT 214 214 Kg E[RES 1,350 702
802 [MHEXT 40 40 Kg JeviEE 918 734
805 | 408 408 Kg E[RES 799 475
807 [tk 1 25 25 Kg EIRES 3,024 2,916
810 [BI KT 29 29 Kg E[RES 3,780 1,920




